Group 2 Hverbs

These verbs are used with “% “particle as
object marker.

* present tense past tense
particle BRER BER
dictionary form negative form dictionary past past negative
HER EER Gk WER =% BERTER
wear gé %Z‘IL\ 37“: 579?75‘07":
wear not wear wore not wore
_ bhThs bIhm DIhr DI hason
forget not forget forgot not forgot
out L\*Lé L\hfib\ L\hf: L\hfif)‘of:
put not put put not put
give & l-fé E (-Jstil.\ & (-FT: E (-Ffati)\of:
give not give gave not gave
_ HLs  [EloHme  ELHE [ ECHanor
start not start started not started
. BIFERs BEAn BEZ:  BIEZssor
remember not remember remembered not remembered
Group 2 verbs F9 form is very easy to conjugate.
Drop % and add 9/ FHA / ELI=/ FEHATLE
Examples:
1: [ rememberd some Kaniji.

br-LIEZ »ALE BIEZE / br-LIE »ALE BIEZFELE

2: [ don't put sugar in coffee.

Hf-LIE a—E—IZ &&5F LWLy E85F LhFEEA

3: Long time ago, Japanese people wore Kimono.

L.

But now, Japanese people don't wear it.

[ZIFALAIE Z220%F &= / IZIFEALAIK E20%x EFLS:

TH LWFEIX EbDE QLY 00T EFEEA




